Mark scheme

Q1.

Amounts circled as shown:

145mil

e T
150mi

Moo =]

1500ml

fig

Gilg

ED0g

Both amounts must be correct for the award of the mark.

Accept alternative unambiguous indications such as
underlining or ticking.

[1]

Q2.

centimetres and kilograms and litres

All correct for 1 mark.
[1]
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Q3.

Award TWO marks for all five letters in the correct order as shown:

[E]
[°]
[2]

If the answer is incorrect, award ONE mark for at least three letters correct.
Accept alternative unambiguous indications, eg

1200 mi 3
1.71\ 8]
1
<]
1560 ml E
1.071 €]
Upto2
(2]
Q4.
Award TWO marks for the table completed as shown:
grams |kilograms
2500 4.4
1200 1.2
240 0.25
30 0.03
If the answer is incorrect, award ONE mark for two of the three numbers completed
correctly.
|
For 0.25, accept .25 OR 4
Upto2
(2]
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Q5.

1 litre —

lire —

[1]

Q6.
b [1]
Q7.B
Q8.D
Q9.C
Q10. C
Q11.B
Q12. A
Q13.
Can you match the equivalent measurements?
100 cm 9m
5m 200 em
300 cm 00 cm
2 m 1 metre
900 centimetres im
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Ql4.=, > ,>

Q15. 10mmin 1 cm
Ocm 70mm
Ocm 90mm
1cm60mm

2cm10mm
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